F‘ FEDERAL SIGNAL CORPORATION
Emergency Products

2561001B
REV. B 297
Printed in U.S.A.

WIRING AND MAINTENANCE

FEDERAL 65" ALL LIGHT STREETHAWK® LIGHT ASSEMBLY

. To properly install this light: you must have a good
understanding of automotive electrical procedures and
systems, along with proficiency in the installation and use

SAFETY MESSAGE TO INSTALLERS

People’s lives depend on your safe installation of our products. It is important to read, understand and follow all instructions shipped with this product
and the related add-on products. In addition, listed below are some other important safety instructions and precautions you should follow:

. High voltages are present inside the strobe light equipped
models during and after operation. Ensure that power is
disconnected and wait at least ten minutes before removing

the dome.

] Locate light system controls so the VEHICLE and
CONTROLS can be operated safely under all driving
conditions.

of safety warning equipment.

. When drilling into a vehicle structure, be sure that both
sides of the surface are clear of anything that could be
damaged. Remove all burrs from drilled holes. To prevent
electrical shorts, grommet all drilled holes through which .
wiring passes.

You should frequently inspect the light to ensure that it is
operating properly and that it is securely attached to the
vehicle.
. A light system is a high current device. In order for it to
function properly, a separate ground connection must be .
made. If practical, it should be connected to the negative
battery terminal. At a minimum, it may be attached to a
solid metal body or chassis part that will provide an
effective ground path as long as the light is to be used.

File these instructions in a safe place and refer to them
when maintaining and/or reinstalling the product.

Failure to follow all safety precautions and instructions may result in
property damage, serious injury, or death to you or others.

ELECTRICAL WIRING. II. NFPA INSTALLATION.

The Light Assembly is completely wired at the factory and does not
require any additional internal wiring. The cable connected to the Light
Assembly contains all the conductors necessary for proper control of all basic
and optional functions (see figure 1).

MESSAGE TO NFPA INSTALLERS

For mounting, color configuration, and mounting considerations,
refer to the latest edition of the NFPA standard for automotive
WARNING fire apparatus.

To prevent personal injury and/or damage to vehicle components,
in the event of a short- circuit in the power cable, install a fuse in
each incoming cable conductor.

For Models FHL6553R, FHL6553W, FHL6558R, FHL6558W, and
SHL6558, use figure 3 and table 2 as a guide (for mounting and wiring)
when installing this light assembly as part of an NFPA certified system.
Figure 2 illustrates the external/internal Light Assembly wiring by Ill.  MAINTENANCE.
function. Using figures 1 and 2 as a guide, make the appropriate electrical
connections shown in Table 1. Be sure to use fuses (current ratings shown in A.
the applicable diagram in figure 2), wire and switches with adequate current
capacity for each function. Any of the light assembly functions can be
activated by applying 12VDC to the appropriate control line. The heavy using mild soap and a soft rag. Should fine scratches or a haze appear on the
black lead (-) must be connected to vehicle ground, to perform a function domes, they can ordinarily be removed with a non-abrasive, high quality,
check. one-step, automotive paste cleaner/wax and a soft cloth.

Cleaning the Plastic Domes.

Ordinary cleaning of the plastic domes can be accomplished by

DRIVERS SIDE FRONT PASSENGER SIDE

I
N\ U N J A\
FRONT AND END FRONT LEFT i' FRONT AND ': FRONT RIGHT FRONT AND END
CENTER
[eeBgABOOBE
12345678901 |
LEFT OF CENTER

LEFT ROTATOR ROTATOR \ ROTATOR ROTATOR RIGHT

ALLEY i ALLEY

) @ ROTATOR @ é @ Rourou@ C
|

CHASSIS GROUND SCREW
i nI0os8765432 7

RIGHT OF CENTER

REAR AND END
£

REAR AND 0 105
REAR LEFT ; CENTER REAR RIGHT REAR AND END
~ ~™ L ~ m ~

ACCESSORY CABLE

INTERNAL WIRING
EXTERNAL WIRING

RED/WHT

BLK/WHT

FOR INTERNAL DETAIL WIRING,
AND EXTERNAL CUSTOMER
SUPPLIED FUSES AND
SWITCHES ,SEE INDIVIDUAL

WIRING DIAGRAMS
IN FIGURE 2.

BRN / WHT

(=)
GROUND
J \UBLK D

{+ ) TO POWER /IGNITION

S 29082641-0/

Figure 1.



INCOMING CABLE

FOUR PRIMARY ROTATING LIGHTS

U!O

|
|
|

<

RED
N 290C264/-03 o\ o ’ o
PASSENGER SIDE FRONT 1

DRIVERS SIDE

swwr s o, pmewne casie TWO ROT.,T.C.L.,0SC. CENTER BASE(S)

* norAmns SHowN t2)
< ) | \—
o TWO OPTIONS MAXIMUM ON TERMINAL 6.
12345 | 78931001 ’ BA FUSE, FOR SINGLE OPTION,
IERREEEE R
D ; :?\ 1109876543 2!
ax QBBEBBBEODAO
[N 290C2641-04 N o [an
PASSENGER SIDE FRONT =

DRIVERS SIDE

BLU  Ish W o 5'“0"'"6 caste FOUR ALTERNATE FRONT FLASHING

BRN/WHT 10A SW
BRN 104 SW _~
<

*
1234
0aeo

WHT/RED

meowins caste. FQUR ROT., T.C.L.,0SC. CENTER BASE(S)

PRIMARY
{4 ROTATORS SHOWN!}

<

* TWO OPTIONS
MAXIMUM ON EACH
TERMINAL,S AND 6.

o 290C2641-09 o Y
PASSENGER SIDE FRONT DRIVERS SIDE =z
BLU 158 SW_~ E'NCOM'NG cse FOQUR ALTERNATE REAR FLASHING
sk RF Lk GRE RE BLK 8F gLk
12 456789 }01 .
gpoaanBane i NOTE: 35W LAMPS ONLY,

>—C WNTIORN

d

BLK

PASSENGER SIDE

[
11K38 7654320
| fgaAARAG0D
WHT/ V10
o o | o O 29002641 -0 o
FRONT DRIVERS SIDE =

2.

=4 < | > 7 RED/WHT 154 SW INCOMING CABLE FOUR FRONT TAKE DOWN AND
1 2]ass7a v | NOTE : 35W LAMPS ONLY BLKIWHT 152 5%, - TWQO FRONT FLASHING LIGHTS
BEGBABBEEE "ty G BLu__ AW AND 10
N i q % TWO OPTIONS MAXIMUM ON EACH TERMINAL 3.9 )
D o
)——BRN i I | 098B7654321 < < < 4 < A <
(G v ftsdieans : L e e
) 0 . .
A TTEY) el ngg FL ocnar s o ‘
) o e D BLu &\ ‘ WHT/ GRN G
PASSENGER SIDE FRONT DRIVERS SIDE =3 GRN tesas o
fTK R ‘ 68000060060 |aw
WHT/BLU_ ‘
YEL 15A SW_~ INCOMING CABLE TWO FRONT TAKE DOWN LIGHTS !
() () () \ (> () < F :
PASSENGER SIDE FRONT DRIVERS SIDE S
P23 56789101
D B80§00B8000 ‘ . VL 1A sw_ [ NCOMMG caBLE SIX ALTERNATE
BLK YEL ‘ YEL
| FTESTErSTy % FRONT FLASHING LIGHTS
| 080BBR0BES
. 1 < = NN < <=
T Y #soczeeos O - | o o | NOTE: 35W LANPS ONLY.
PASSENGER SIDE FRONT DRIVERS SIDE =13 iy ‘ BLy
| WHT/GRN
RED/WHT 15A SW INCOMING CABLE SiX FRONT TAKE DOWN LIGHTS D G
BLe/unT 81 5% { NON - FLASHING ) HI098 7654321
YEL 158 SW % TWO OPTIONS MAXIMUM ON pogAagdopnag
EACH TERMINAL 4,3 ANDIO. BLK .
< < D < < Lk IBLK : BL BLK] aix
< " t r% 290264112 F_@'JLK -r.jr au‘ 8}(?} }%1_ >
ax 883 ] PASSENGER SIDE FRONT DRIVERS SIDE. 1
L
D E i WHT/GRN e (] GRA 108 SW ;mcowwc CABLE DUAL FRONT DIRECTIONAL STROBE
SRN nips 8 7654321
wnT/(\JL_LJW‘]?WRED/BLU FOBOGBBEBOED — = o T — )
BLK
B L BLK  sopcssas o7 DoANB Brplieue TeLx sk L3 aue L3t L234567 ] 9n * |:205¢|g[(3;?5;§/{wﬁ|ﬂ€3
i " & ™ i e googuoopgee FROM TERMINALS 4 AND 9
PASSENGER SIDE FRONT DRIVERS SIDE = D B YEL YEL d
T = ‘ 198 7654321
BLK/WHT I0A SW _~ wcommns caste TWO DYNARAY INTERSECTION LIGHTS » 1;*”2 N:‘E’J | paa E ppooge
‘ ——— PRIMARY aLK POWER SUPPLY '
— - = - o (] - BLK o\ Y ' o N 290C2641-13 F—A
1 2345678 |00 l PASSENGER SIDE FRONT DRIVERS SIDE
goappapBRol .
D LK BLK /\WHT/YEL l WHT/YEL E'—“G ORN 8a INCOMING CABLE ALLEY LIGHTS
f ——'\,—o/
0987654321
Bk | BEEO6080800 sx(r L i
DN
: < < < )
Y 290C2641- 08 fan o l o o o < [3] E ?J ﬁ éﬁ EEHU ‘\
PASSENGER SIDE FRONT DRIVERS SIDE = A BLK J RN (BLK &
MNIg9 87654321
D;m | BREBOBENEEE o,
INCOMING CABLE NOTE: ALL FUSES AND SWITCHES SHOWN O 2s0coser1is -~ o~ ‘ o s o
ARE CUSTOMER SUPPLIED. PASSENGER SIDE FRONT DRIVERS SIDE  QI&&=2
Figure 2.



Table 1. Electrical Connections.

Wire Color Functions

GRN Right Alley

ORN Left Alley

BLU Flashing

YEL Takedown, Flashing

BRN Rotating, Traffic Clearing Light,
Oscillating Light

BRN/WHT Rotating, Traffic Clearing Light,
Oscillating Light

RED Rotating Lights

GRA Directional Strobe

BLK/WHT DynaRay™ (Intersection Clearing Light),
Takedown

RED/WHT Takedown

BLK Ground (-)

CAUTION

The use of other materials such as strong detergents, solvents,
petroleum products, etc., can cause crazing (cracking) of the
plastic domes.

B.  Lamp Replacement.
WARNING

A serious injury may result if lamp is touched when hot.
Always allow lamp to cool before removing. Halogen
lamps are pressurized and if broken can result in flying
glass. Always wear gloves and eye protection when
handling the lamps.

1. Dome Removal (see figure 4).
a.  Turn-off power to Light Assembly.
b.  Remove two #10 type “B” hex washer head thread-

forming screws which secure the upper grille to the lower grille. Lift upper
grille away from lower grille.

Table 2. Electrical Connections for NFPA Models.

Term. Block  Control Cable
Position Wire Color Functions
1 GRN Right Alley (option)
2 ORN Left Alley (option)
3 BLUE Takedown, Flashing (option)
4 YEL Load Managed Calling/Blocking
5 BRN Call for Right of Way
6 BRN/WHT Load Managed Call for Right of Way
7 RED Calling/Blocking
8 GRA Strobe (option)
9 BLK/WHT Left Turn Signal (option)
10 RED/WHT Right Turn Signal (option)
BLK Ground (-)

c. Remove the sixteen (four per dome on each side) #8-32
x 7/8" hex head screws from the front and rear edges of the domes.

d.  Carefully remove the domes. Ensure that the
bulkhead gasket remains tucked in its groove.

e.  The domes and grilles can be replaced by reversing
the procedure. Torque dome screws to 14-18 in./Ibs and grille screws to 20-
25 in./lbs.

2.  Primary Rotating Lamps.
To replace the halogen lamp, proceed as follows (see
figure 5):
CAUTION
Forced rotation of the light mechanism will cause damage

to the worm gear. ALWAYS rotate the light mechanism
by rotating the motor shaft.

a.  Rotate the reflector until the lamp clip (located at the
base of the lamp) can be removed, and remove the clip by sliding it away
from the reflector.

b.  Note the lamp’s orientation and pull the defective
lamp and connector out of the socket.

FRONT OF TRUCK FRONT OF TRUCK
VA 1l / VRS R c c R
p © o o o
RED {CALLING/BLOCKING
o o o 0
BRN [ CALL FOR
L RIGHT OF WAY
BRN/WHT [ MAY BE LOAD
MANAGED
290A3197
Figure 3.
# 10 TYPE "B"HEX. HD.,THD. FRM. SCREWS UPPER BAND 8-32 X 7/8 HEX, HD. SCREWS
DOME TO0HA1035(2) 7000A302-14 (i6)
8559A042(2) {4 ON EACH DOME SECTION )
CENTER DOME — LOWER BAND
BULKHEAD GASKET 85598182 (2) BULKHEAD GASKET —
\ 8559A0918 (4)
) \\}f? @;// N /};\K \; W Q ‘//;// , P \”\\\ /K\ N \ DA = y y 7 \ 7
, ¥ N ;-
’//é
290826 41-02

Figure 4.
-3-



CAUTION

When installing a new lamp, do not touch the glass
portion. If the glass has been touched, shortened lamp life
will result. If the glass end has been handled, it should be
carefully cleaned with a grease solvent.

c. Replace the defective lamp with a new H-1 halogen
lamp (Part No. 8440A265A). When reassembling, ensure that the lamp is
secured to the connector and that the clip is properly seated in the grooves
on the lamp socket.

3.  Secondary Lights.

To replace lamps in the secondary light positions (fourteen
locations), proceed as follows (see figure 6):

a. Remove the two #6 pan head screws and washers.

b.  Remove lens by pulling straight out. Remove lens
gasket.

c. Replace defective lamp with proper lamp only. Refer
to Table 3, Secondary Lamp Replacement Guide.

d. Reinstall lens and gasket . Secure with two #6 screws
and washers removed in step a.

C. Worm Gear and Bearing.

All gears should be greased at least twice a year. Use medium
consistency Dow Corning DC33 or equivalent type grease. Proceed as follows
(see figure 7):

1. Remove lamp and clip from rotating light.

2. Lift-off reflector and worm gear. Lubricate with grease as
shown in figure 7.

3.  Replace parts by performing the above procedure in reverse
order.

NOTE

When reassembling, ensure that the lamp is secured to
the connector and that the clip is properly seated in the
grooves on the lamp socket.

D. Motor.

1.  Before attempting to service the motor, ensure that the
worm gear and worm are free of binding.

2. There should be a small amount of gear backlash for proper
motor operation.

3.  Replace motor if operation is sluggish or intermittent, after
it has been determined that there is no binding and that all electrical
connections are correct.

E.  Service Parts Kits.

Service Parts Kits and Instructions are available for these lights.
Contact your local Distributor for more information.

Table 3. Secondary Lamp Replacement Guide.

FUNCTION REPLACEMENT LAMP
Alley Light 50W Halogen,Sylvania #795
(right and Part No. 8107A119

left)

End Lamps 35W Halogen, Sylvania #796
(right and Part No. 8548A028A
left,front

and rear)

Takedown 50W Halogen,Sylvania #795
Lights Part No. 8107A119

(front only)

SEE NOTE

Directional Flash Tube Assy.

Strobe Part No. 8107A127

(front and

rear)

Brake/Tail Incandescent Lamp #1157
Light Part No. 8107A095

(rear only)

NOTE: If the alternating flash feature is desired, the flasher supplied
with the Alternating Flasher Kit is required.

H-I HALOGEN LAMP

CAUTION

DO NOT TOUCH

LAMP BASE GLASS PORTION
OF LAMP
ORIENTED PARALLEL
TO GROVES IN
LAMP SOCKET

SLIDE CLIP OVER
CONNECTOR LAMP BASE INTO
GROOVES ON
LAMP SOCKET LAMP SOCKET
‘\ﬁ
GROOVES(2)

GEAR AND REFLECTOR

ASSEMBLY \

290A2600-01

Figure 5.

#6 SCREWS
290A2071D

Figure 6.

GEAR AND REFLECTOR
ASSEMBLY

H-1
HALOGEN
LAMP

CLIP

LAMP SOCKET

APPLY GREASE
HERE (3 PLACES)

290A2600-03B

Figure 7.




